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FU=SNH 22,239,292 22,299,571 60,279
500 Ex= 22,239,292 22,299,571 260,279
510 = 12X3S 17,469,396 17,560,552 291,156
511 =1EXSS 17,469,396 17,560,552 291,156
511-01 =12 == 17,246,387 17,332,873 86,486
oxgz=z 48 769,400,000 769,400 800,000 230,600
OXtgL=SH 43 17,652,000 17,652 16,030 1,622
OzZzas0de +sSid €3N (BYISSE)
43 19,897,000& 19,897 20,000 A103
Ok Y =1 33 3,924,995,000& 3,924,995 3,940,000 215,005
O=FHa 33 1,048,614,000& 1,048,614 990,000 58,614
Odllet - FM=0 43 40,500,000 40,500 34,500 6,000
OJlzkg89= 33 7,511,949,000& 7,511,949 7,594,434 282,485
LOI=20l e 43 84,040,000 84,040 88,540 24,500
O&=¢& X3 48 473,618,000 473,618 459,618 14,000
Ol 2zH XA 33 45,614,000 45,614 35,614 10,000
OXHO0HotS MEX= 43 85,059,000 85,059 127,520 A42,461
O Y HI2XA dd 1,260,000 1,260 2,520 21,260
o= N2 33 276,656,000 276,656 234,656 42,000
ogdots s+ A 443 9,237,000 9,237 5,530 3,707
OO0tol=&0! XI& 48 9,714,000 9,714 14,489 N4, TT5
OZ0HL Atzl&2S BI2X 43 81,301,000 81,301 99,962 218,661
2=A& 0I0180ts d=Xd 43 31,430,000 31,430 20,542 10,888
OJtAtE g = =<0 43 39,861,000& 39,861 32,419 7,442
OJI==3 Xt §FLE X 43 96,489,000 96,489 124,643 A28,154
OZgRr0IEEE A& 48 622,393,000 622,393 674,409 252,016
OFadH =22 NEAZ 4 & 3,490,000 3,490 6,979 A3,489
O=XN3HEI ALY 334 110,000,000 110,000 60,000 50,000
O2=EsAe 273 Hd 43 23,882,000 23,882 22,132 1,750
ORE=0ls 188 2= 4 & 6,486,000 6,486 15,486 29,000
511-03 JI= 209,009 213,679 £4,670
OUZSSINE LE2US 43 109,156,000 109, 156 107,522 1,634
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20 Al,SHIEZXSS 4,769,896 4,739,019 30,877
521 Al - EHIBEXZ2ES 4,769,896 4,739,019 30,877
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FAH=0N a3 131,076,000 131,076 123,750 7,326
OJl=LgdH3 48 166,497,000 166,497 168,328 A1,831
OLC=20l Ht=2H 28 6,696,000 6,696 7,275 A579
O+ K= a8 142,084,000 142,084 137,884 4,200
OZofel ozHl A& 48 7,982,000 7,982 6,232 1,750
OZots MEX = Z2& 10,936,000& 10,936 16,395 A5,459
OdHge =A™ 33 162,000 162 324 A 162
O&MH= X3 48 35,570,000 35,570 30,170 5,400
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OtRIIIEE =S| 48 2,092,000 2,092 3,347 A1,255
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Ol MEAL 2H a8 504,589,000& 504,589 440,019 64,570
ogwotEsz & 438 311,196,000& 311,196 337,204 26,008
O&EAY st22 X 28 436,000& 436 872 A436
oSG HH 22 2 & 34,980,000& 34,980 47,480 A12,500
SEEFAE 2232 A 28 11,941,000 11,941 11,066 875
OREs0ts 58 EtHES 38 2,919,000 2,919 6,969 A4,050
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= 17,246,387 7,332,873 186,486

=l 14,000 14,000 0

| 209,009 213,679 ~4,670
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2 10,000,024 9,602,459 397,565

NASS MEOHE X9 8,188,534 8,181,833 6,701
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= 705,400 736,000 30,600
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= 123,445 128,800 75,365

05 BI2reIEta 831,750 920,000 ~38,250
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= 705,400 736,000 30,600

= 52,905 55,200 ~2,295

2 123,445 128,800 A5, 365

REAS TR AL 22,064 20,037 2,027
=2 7,652 16,030 1,622

2 4,412 4,007 405

301 YerEaZ 22,064 20,037 2,027
=2 7,652 16,030 1,622

2 4,412 4,007 405

01 AtElEE = 2513 22,064 20,037 2,027
OREASSH X 2H 22,064,000 22,064 20,037 2,027

= 17,652 16,030 1,622
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JHA - 2HY ST 20| XIRAHY 49,220 40,024 9,196
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= 2,949 2,391 558

= 6,410 5,214 1,196
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= 928,614 870,000 58,614
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= 40,500 34,500 6.000
= 10,125 8,625 1,500
01 Yste Az 50,625 43,125 7,500
2 40,500 34,500 6,000
= 10,125 8,625 1,500
01 A2 R =463 50,625 43,125 7,500
OJE4ST et - BH S0
33 50,625,002 50,625 43,125 7,500
2 40,500 34,500 6,000
2 10,125 8,625 1,500
JIE4BX FRYIe X 96,489 124,643 ~28, 154
2 96.489 124,643 ~28, 154
01 YeraI 96,489 124,643 ~28, 154
2 96,489 124,643 ~28, 154
01 ABIR R =453 96,489 124,643 £28, 154
OJE+3X LI X
2T 96,489, 0002 96,489 124,643 ~28, 154
2 96,489 124,643 ~28, 154
IEDE=E 14,320,775 14,433,659 A112,884
2 8,147,640 8,234,625 86,985
= 691,953 691,953 0
= 1,971,732 1,974,142 £2,410
2 3,509,450 3,532,939 23,489
CEMEY 25 8,857,494 8,949, 149 £91,655
2 7,694,649 7,777,134 82,485
= 3,600 3,600 0
= 191,889 193,720 A1,831
2 967,356 974,695 A7.,339
IE=gez X2 8,345,684 8,437,339 £91,655
2 7,511,949 7,594,434 £82,485
= 166,497 168,328 A1,831
= 667,238 674,577 AT7,339
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2 7,511,949 7,594,434 £82,485
= 166,497 168,328 A1,831
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TEEEEREE 8,345,684 8,437,339 £91,655
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401 Al HI YL SO 0 6,000
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A2 51,200 51,905
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= 1,000 1,000
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= 170,843 120,843 50,000
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= 5,972 6,248 A276
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= 35,706 35,706 0
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05 PI2HPIErD 44,356 44,632 A276
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= 26,000 10,000 16,000
01 At el 26,000 10,000 16,000
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OEAE I DA 2AIR
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01 MAULSES S| 4,000 0 4,000
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2 1,500 0 1,500
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oHE =2XEA 3,645,098 3,594,460 50,638
2 1,223,444 1,225,119 1,675
& 144,505 144,505 0
= 1,289,163 1,237,336 51,827
2 987,986 987,500 486
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2 799,549 733,549 66,000
= 186,408 175,058 11,350
2 147,639 132,491 15,148
op4e X 676,595 656,595 20,000
2 473,618 459,618 14,000
= 142,084 137,884 4,200
2 60,893 59,093 1,800
301 YLeIE AR 676,595 656,595 20,000
2 473,618 459,618 14,000
= 142,084 137,884 4,200
2 60,893 59,093 1,800
01 AFBIE B2 676,595 656,595 20,000
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2 473,618 459,618 14,000
= 142,084 137,884 4,200
2 60,893 59,093 1,800
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= 7,982 6,232 1,750
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ZoHel M3 ES(HRA) X 116,144 142,803 A 26,659
= 81,301 99,962 A 18,661
S 10,453 12,852 A 2,399
= 24,390 29,989 25,599
307 QI2t0IA 116,144 142,803 A 26,659
= 81,301 99,962 A 18,661
& 10,453 12,852 A2,399
2 24,390 29,989 75,599
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= 85,059 127,520 A42,461
= 10,936 16,395 A5,459
i 25,517 38,256 212,739
307 212t01& 121,512 182,171 60,659
= 85,059 127,520 A42,461
= 10,936 16,395 A5,459
i 25,517 38,256 AN12,739
05 CIZtRAEZ 121,512 182,171 60,659
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= 85,059 27,520 ~42,461
= 10,936 16,395 5,459
2 25,517 38,256 A12,739
Zojol BOASE A 28,440 30,440 A2,000
201 Let2IH| 0 2,000 22,000
01 AFR 22| 0 2,000 A2,000
OFNIALOHHMT FIE 23 0nl 0 2,000 A2,000
ALY BIRH Atg 1,800 3,600 21,800
= 1,260 2,520 21,260
& 162 324 N 162
= 378 756 A378
307 212t01& 1,800 3,600 A 1,800
= 1,260 2,520 A 1,260
= 162 324 A 162
= 378 756 A378
05 BIZtRE = 1,800 3,600 21,800
oflojgre g
Z & 100,000& » 3H * 63 1,800 3,600 21,800
= 1,260 2,520 21,260
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= 378 756 A378
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